»{ / AP Statistics — Semester 1 Final Exam Practice Problems
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| 1. . : ected nambt s =M
y In a highly academic suburban school system, 45% of ﬁ;zgd;;# f
(8, 40% of the bowmampmmm&ﬁmar ot = Agics £/ ”‘37)
d 2100 boys carolled in thch;ghschoo!s of:hcdssmct.thusthc — Q4> Jwgergs - B3
‘c::ncctcd numb:rf:f}jg}@_ggn who tales advanced plac=meac courses Bernoalli Sethirgs
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/Onc of the 7alues in 2 normal distribudon is 43 and its zscore is 1.65 =4o KA

* If the mean of the dlsmbunon is 40, wh:.r is :hc sta.nda:d deviation /: | o5 m —
‘of the chstnbu:non? . e i (7 i
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#3

¢ being considered for{determining rasistanes ¢o fading |

of paint. Some 1500 homes of 9500 homes in 2 [acge ] 8 i )d,fﬂﬂ S f.e? A% e
: ve cmpammdwnhchcpam:mqumon.m fﬁ"“d ( h uM.J
plans zre: looks a fue ek /9 ”D"T_i on fu
Plan A: (1) Random sample 100 homes frum:l[rh:homcsmrhc W AN He ,f,qfinm »Fe ot ‘.ff:;
(i) Rcccu:dthca.mounx of fade ovcra.z—yczrpr_nod. («shi‘c h iJ t_&-é IHRAT ori-—th@  FTAE

(iii) Generare 2 confidencs interval for the average amount
 of fade for all 1500 homes wirh the paint in question.
Pla.u B: (i) Random sample 100 homn: ﬁ:nm the 1500 homes Jg;;b.
the paint in ueston, &
(it ] Rc%i:d“ ‘Eh:“%imunt of :_ovcr 2 Z‘yea: pmo:i.
(iii) Gemerate a2 confidencs Inrerval for the average amonnt
of fade for all 1500 homes with the paint in question.

a. Choose Plan A over Plan B :
b. Either plan is good—the confidencs intervals will be the same.
c. Neither plaz is gpod—aeither addresses th: concams of the stdy.
Choesc Plan BoverPlan A
€ You can’t make a2 choies—there isg’t enough mfcunanon given
to evaloars the cwo plzns. _ >

#4.

/Which of the following is 7ot a pmpcrty of the s:amulc st::.nd.a.rd
deviation (s)?

. sensidve to the vmabmq oé che. d.Ls::nburjcu:;:J Y5« Z?fglf ;fi’fﬁf o

b. mdcmmdcntoftbcmcm 285, 5prtad doss o epzel o (enter .
“"7@r=smtam: to extreme data values no (&MW abbect: % jaret TS C~,MW Wi )

d. independent of the median ( yes, 5{;,!.,4 ploas st ckgpend 04 rwm)

e. all of the above are properties afs o




©

)l'b.c weights of professional football players are approximately

mally distributed with a2 mean of 245 lbs. with a standard devi-
arion of 20 lbs. If Thor is at the 80th pc:cmulc: in weighr for foot-
ball players, which of the followmg is closest to his weight in

pounds?

a, 265
b 155
e 22
d 270

()62

#6.

/kr.\ a famous study from the late 1920, the Wcs::m Electric Compa.ny
wanted to study the effect of hghung on pmdu viry. They discov-
ered thar worker productviry increased nge of light-
ing, wherher the lighting was mcrcascd or decreased. The workers
were aware that a study was in progress. What is ‘the most likely

cause of this phenomena? (This effect is known as the Hawthomc'
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PtA arB) : . SRR Af‘ X( ,‘*)m /Lﬂé’
2. PIA a.nd B) 12, ?(A orB) "".533-_;-*-'-'3':- o(R) Pl anB
—5(5) P(A aad B) = .08, P(A or B) = sz' - plaor) =PRI 5 f wng)
& -AandB)-—lZ,P(AorB) = .”fjﬂa‘?“"'”/é
d. P(Aand B)=.08, P{A oc B) = _58 _]. 62
« VP{A 1nd B) = 08, B{d or B) = 70 22
#8.
H.mm:hermmtc:cstzdm bhshm“l{a m.usc—and—cﬁf::t clation- e g ey
“ship berween exercise level 20 pcrc..atagc of body fzﬁmch ofthe. Oﬂ(j an ¢ f'm 'wﬁ
followmg should she use? : ; tan & ;#@( h taunle
2. A survey with a stratified random samplc i o ehbect.
b. An obs:rvauonﬁl smdy g Bihchags ol For all oted, pa
C, A & : g ey g e a5 f\‘gj ﬂe Hm;aﬂ H; “;wﬁ!-j
A contmﬂcd. cxpmmcnt _ . :
asfae 1ghan o o€ wort

e A longimdinal study
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#9. plock i

}You_a.:c going to conduct an experiment © detecmine which of four Y a0p! —f@’: f? ~ ¢
differeat brands of car food promotes growsh best in drrens ages & G &,,Z s Al %
4 monrhs ™ 1 year. You are concarned that the c&ccrm.ightv:ryhy _ $ itk {};\*\ 3o 3-—.@! ’* e ¢
the breed of the car, so you divide the cats inro chres differeat cae= 901 “f-‘-;:m:i’
oA |

gories by bresd. This gives you eight kens in each caregory. You ) / g
randomly assign two of the kitrens in cach caregory to one of the four li ill-ém ) S 7 R ,;

foods. The design of chisgmdy is best dcscm:cd as _ Sk ‘\t: j:fzé o’
2. Randomizad block, blocked by bresd of cat and type of dog foo :’__"Ff % Bl
b. Randomized block, blocked by ype of carfood Breed3 & émﬁ joAndt> "
= Marched pairs where each two s are considered a pair FUiHet N Jromp 1 — :j 32 e
d. A concrolled design in which the varicus breed of cats are the go-pi* o

coatrols '

,_;,@ Randomized block, blocksd by bre=d of cac

#10.
I

The boxplots above compars the television ratings for two competing
nerworks. What conclusion(s) can you draw fom the boxplows? pthing 7
AL Nerwork A has more shows than Nerwork B = Mox—min brerfor A
“IL Network A bas a greater range of radngs than Necwork B <— "7~ 7 =
VL Network A is higher rated than Network B < :s?!if meD, 83 and max are sl

: fa } " ,-;‘1 ""-"‘W"_?;;\J_:!"-. [
2 Iand T only highar o A 1 B

——(B) T 2nd M only
Iand M only -

d LI and I
e I only

~1hae d»""’frf fii‘:l,g-!" Shows

#11.

. JA least-squares regression line for predicting pecformancs on a col-
lege entrancs exam based on high school grade point average (GPA)
is derecmined o be Score=273.5 +91.2 (GPA). One smdent in the  rectic £+ w
study had 2 high school GPA of 3.0 and a score of 510, Whatis the  scace = 27351412 (’*:"J'

%_Jmai Semrg = sl

residual score for this stadeat? = §Y7 |
282 R el ' s ackual =predicied
b. 43-9 3 ; i : A : i L orestdunl F actun {’m
5 = N
-262 - | = =331

e 371 [ —
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#12.
)Th: following table gives the probabilities of various oumomes for
a gambling game. Sl s :

Qutcome Lose §1 Win §1 Win S2
Probabiliry .6 B 1Lt a5

< .05 i

b. -§.60

—(e)-5.05

d- —3.10 E ¥ 1 ]
e. Youcan’tanswer this question Because this isn't 2 complezz prob-
" ability discibucion. ' o

#13.

| Harvey found out that his z score on 2 college readiness test, com-
pared to others who took the same test was 1,25, Which of the fol-
lowing best describes how you might ineecpret this value?

2. Harvey's score was 125. x
__; Harvey’s score was 1,25 standard deviadons above the mean of

all people taking the test. . ol g k ;

c. Only 1.25% of the people taldng the test had scores higher than

d. It'gancy scored 1,25 point above the mean of all people taking.
the test :

e. ;—Ezrver‘s score was 1,25 times the mean score of all people tak-
ing the test. ; :

#14.

| You want to compare the number of home runs hir in the American
Leagne to the mumber of home runs hit in the Nadonal Lezguceach
year over the past 25 years. Which of the following is likely to be
most useful in graphically demonstrating the differences berween the
two leagues? :

a. Parallel boxplots -

b. Scaterplor of American League vs. Nadonal League
Back-to-back stemplots i
Side-by-side histograms

e. Cumnlatgve frequency plots.
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Axaloalcommumycuﬂcgc,?ﬂ% of stadents ke English 80% of v

those who don’t take English take z;:couxsu, wiu.l.-: only 50% of - ' 0:F ek

those who do take English takearz. Englith — BT

#15.

@ }Whatuchcpmbabﬂxqthatasmdan:uhsm?

4
z .80 ; ok Arb v

r:.- j:g " o e \ English - ~
d 13 . i L e 6 :
gadBl s o S A e et p(A‘_g:_ (o;ig(o\s} (gu}{a&’)

#16. =3 L 5\

At a local community college, 90% ofsmdca:xt:a.kcﬁng.hsb. 80% of
those who don’t take English take art courses, while only 50% of . (o0, ( We.8)

those who do taks English take art ¢ {E’v@ s Eﬁ{*:{}z’ {a ﬁyg §)+(o';)(a,g
fWha: is the prababdmf t:hat a mdm who takes ..r}docm t take
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#17
t.)You want to condm:: a

:qutpmmtmoscuscd by 2
your results on 2 sample of 40 members. Which of the following

merhods will geaerare a simple randem sa.mpl:: of 40 of the members?

2. Mail out surveys to every member and use the first 40 thacare . Mo, Honrespanse bia_s

remurned s your samplc. : ‘
b. Randomly pick 2 moming and Sumvey. the E.rst 40 people who | &~ Mo, Convenience Sample, M ’;ff;‘v g€

- comeinthe doorthatday. ..o o s
bort

C.. Diﬂdcth—:ﬂmbtfafmmbmbyq’g 't'au‘aluck. Cﬂﬂcsconc - m _ng_}\l{’rl”afr( 4“;{?#-‘ i
of the frst kth names oo rhchsr*usmg; random number geaesa- becawie. net all Seagie s o &
: €y anlly E‘KEJ +e be Jefé‘f‘f’

tor. Then cheose every kch name on the list after that name.
Pur each member’s name on a slip of paper and randomly select - v/ very best way - o Sl

p—

40 slips.
e. Get the sign-in lists for each day of the wc..k, Monday throug? _,({ o untscce g € Lo Ay 0ot
Friday. Randomly cheose 8 aames from each day for the sucvey- /€x i wl or ANcse _,;;We Aot

S5 ia-
#18. m

Inalarge PODulaucn, §5% of the pccm!: g:ca nhys:ca.l c..zmmano' Sor ;,,M?,g{ {,\,fo,i,a,,j

at lc:a.sr oncs every [WO 7ears. A SRS of 100 peaple are incerviewe Pe
and the sample propordos is compured. The mean and smadard M, =P (T"p,‘ T
deviadon of the sampling diseibudion of the sanmlc propardon 255 f _ e

55.4.97 M 7% | g jép,yv:) o4¥)
b. 55,.002 2 - : Pl *

55,2
\,@ 55,0457

= You cannot dcc..mun: chc sra.ndar.d d:ﬂauon .Erom the info
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#19.
Lc weights of a large group of cnﬂcgc footbzll playcrs is approxi- ﬁ A =Gesnad ma‘k%f‘ i w:v e .L:a Xs

tely nocmally distdbured. It was determined that 10% of the mg! Solrt & syjiw 7o T M, ““!b
players weigh less than 154 pounds and 5% weigh more than 213 il 154 b A 2;2_’3 7
ponnds ‘Whac are the mean and standard deviadon of the distdbu- - y: e - o5
ton of weights of foo:ball playcrs? = T Ol T S el
4. 183.5, 19.4'4 e A= |MNMM( [0 f} Z:I‘AJﬂnfﬁl(qu‘ L’,rl)
b. 185.8,22.36 i i M - -|2816 = 1,69

179.8,20.17 JUse £= == (5 - 23 -m

) 5 ; —l2%= = 644G =

167.3,18.66 i ‘ \ T

e 170.3,19.85 : - | ~ zw.o— =15
| - ' Lgwidy £M=3
#20, [_ POV \'ﬁi
i3
'An advice columnist asks rcadus to write in about how happy they ‘!‘:‘*l | y549)
are in their mardage. The results indicate that 79% of those respond- | 20,804 T
mgwouldnecmanythesamepamu:lfth:yhadlrwdoaﬂum ; = E ;v;-- g e
\ q, 8511
R

again. Which of the following statements are true?”
a. IP’s likely thar this resnlt is an accorae rcﬂa:non of the pbpulanon.
(B I's likely that this resulc is higher than the true population pro- . .4, exanple ot
portion because persons nnhappy in their mardages acemoselikely | im’w)“j raspanse bias

to respond.
S hk..iy that this result is lower than the true population pro-
portion because persons. unhanuym. d:c:x.r mamagas are unlrkcly

to respond.
d. I¢s lik=ly that the results are not accurate becnusc acoui: t:nd to

lie in volontary response surveys.
e. Thereis really no way of predicting whether the rmults are biased

or not.

Ne kaé’{ d{».) "m@g fﬂb@ P’y’]_'ﬁ’lg v‘bﬁj la

#21.
school sucvey of students coneerning which band to hire for the  _fi;5 7J 4 Sewmpliag Aigtrhation of
next schoal dancs shows 70% of students in faver of hiring The Sumyle F,@ srhoa So! e
Greasy Slags. What is the probability thar, in 2 random sample of ( . o= | P
ZQO studenrs, at least 150 will favor hidng The Greasy Slugs? M 9 » f; = 0% " =¥ "
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#22.
ich of the following describes an experiment but not an observa-

’ tonal study? ; :
D ? —> (=) A cause-and-effect reladionship can be demonsmaed. = & T/ el

are ~The o4 !j

The cost of conducting it is exesssive. _ Ahing wdich B esta HJ b
. More advanced statistics are nesded for analysis after the data are a Cawsal celafonrrhig
gathered. - i B :
d. By law, the subjects must be informed that they ace part of a study. -
e. Possible confounding variables are more difficult to control.

#23
least-squares regression line, y =a+ b= is to be constucted for twa h=" ‘573
variables < and y. As part of the process it is determined tharr=.77, :

%2135, 5=.32,7 217.8,and s, = 3.6. Whatis the slope of the | _ /) (39

regression line? : A
2 5.09° . b=[8.66] |
b. 068 " o ; . W PR
c. 11_25 ; . : : (T»Qr we i‘#&’ﬂ“gﬁ fwﬁ:"""}m _

-@ 8.66 ' we. Cowld [3*55““‘7 infhe (< 3)

& 3.92 : : = (?‘}j}q-é- )

#24.
} For which one of the following distribudons is the mean most likely
to be less than the median? N h sl : _

:
o T L i 4
Yo or outliel)

i \ ‘ﬁ /MED . i ] 3 =
: e i i e g2 £ (R
A ;:‘f;;‘.;’; “rem i~ AE: ™
: ‘ jr ward - -"'I»"':‘--é_ 5 é"""‘r’*
g fg
e |
L
8 #ED




7 #25.
’ )Iu an experiment, the pnrpcsc of randomizadon is to

a.. equalize blocks in a bloclk dcﬂp o
@/ b. reduce vadability by repeating the :xpcnmcm on many subjects
0 %?com:ol for varabies notundar study that might affecr the respanse
conrol for commen characeadstcs
e. make sure each subgroup is fairly represented

#26.
}thh of the following sestements is correct?

v L Thczrmunduzprobabmtydcnszwmcfarzconmuousran- ‘f:-—qf waqf fw,o L any Ffudw.
dom vadable is 1. b das\Fy funehan
¥ IL A random variable is 2 aumerical ourcome ofam.ndomcvmt €« T Sl sas Tl w\fwe it o mmf‘\rn M.-mm

VL The sum of the probabilides for a discrets random vadiable is 1. ; .
: R\ (3 & pamdn ) outeand ol £an cron

i EOR{Y ; %:} fj o \*1\. raedow ‘-4;;#!-2!',4“{“ ”\g“?'?'ﬁ "
b. Iand Il : A T
c. TandIT - S“q‘é;‘;\j --He NAMNEF; ta! \MaIre Ta & B f“
d Tand T Sum oo | A o Samyplé Spec e’ barthi
h—% LI[, mdm pl“‘@bﬂ be‘ffﬁéf.s A el od i iA J -&(6 (ﬂ,; [# E“ffptfw '

= |49'B

#27.

P
o

)Gwr_u the two boxplots above, which of :hc following statements o i S
in cogen ‘ e Hogsmake Sonte, Even i+ MJ_/\J h
KL Ths boxplocfuréct]}hnsmc::c:zmsabovusmcﬁmnthmthc F dhe hax Sige I ,\i{M;,{ ds distrbuatiac
boxplor for Ser h v ol e S Aot ~tha Sike aof
“IL The boxplot for St B has a larger JQR than the boxplot for set A. P NEma i
~1IL 'I'hcmcd.unforSc:AJsJaxgcrthanthcmcdmnfurse:B

a. Ionly
b. Donly
c. I only
d. Iand Tonly

— @Hmdﬂluﬂl’f

§
tho deinSet,

#28.

\Youuemmmdmdcn:ummngwhxchofm br.andsafu:u (czil_ \Mumwﬁl ,fa,w,gu@

5 them Brand G and Brand F) last longér under differing condidons of . L
use..Fir:y'I‘oycuCamryszmﬁrmdwthmndGummdsaHondz means an ontzome Lonld B8
Accords are firred with Brand F dires. Each dreis dven 20,000 miles, ) b & evihes varabe

and tread wear is measured for each tre, and the average wead weac 4‘?( oolu
for the two brands is compared. th.t;s wrong with this expedmen- b»«'\' e Caperimental
m.l dCSIg.ﬁ? o £ : 5{4&5‘“ # a’ ol {“ = 7:’; a i“ g
<2 (?nermcnfmmufmdmgnmbh A ob gach. s adle 4o be
Average tread wear is not a proper measure for compacison. N ; il
c. The experiment should have been conducted on more than two el lp soninnd S f g
brands of cars. Wow A be ?m b dy PRV y
rLNotmouchofachtypccfu:cwasns,:dmthesmdy b dire. bransd wOR enlh typ e
e. Nothing is wrong with this design—it wﬂl work quite wc.ll o eath e ,,_,.ﬁ?,‘, Sl
-"_-F tar - do Gop wihicm LJd

compars the two bands of tires.
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/ #29.

[The following are the pmbabdzty dxsm.bunons for two random yad-
ables, X, and b e

”/9 X EEEwe Y PY=y) i 5 (*md,k.—#md missng : /fa‘*ﬁf"fj‘i
P& o L2 Murl guw s | 5
/ 3 ; g L ;’24,7’4‘%-':"’ .- 76
$ 0o 3ah om N
s ; : = | x=5)
i % e ‘ P xex and $=4) = - (=) Pfﬁ' =t
: : Ef ; g ? 16 s f: i ;&F\* -; iA Mfé}“&fi
< 'iéé' : S e ? (x=4] x:ﬁ,wf’ﬁﬂ- Y
If X and Y are independent, what is P(X = 5 and ¥ =4)? 52 - )
- m’fl T _am e ARG plx=xam 1= ) = £ (x=1 )"’3("”‘ e
2 S/6 _ : L [ f‘ 1
b. 13;15 & e N R o ( ( ) f \
e 3!16
#30.
Which of the following zraphs could be the graph of 1 camnladve comalet e ‘ﬂwz //;;‘j
m:aumcyoloc?
A 1

'9@ S et I ; 5""‘" ’{4’3 cwhmfw-.ﬂ

?!Qf(#ﬂa;ﬂ “’/‘“V £as

{,’«'w L) ;.AFff
{f*ﬁr’éﬁqurfﬂwxaﬁ
Ll

L F

(4

#31.

 Consider the following sct of data: (15, 17, 37, 45, 51, 52, 53, 56, €+ ‘ﬂ fi-ff el
56 57, 60, 53 55 57 89] Wthththcfoﬂowmg, umng;bgljaQR Gncd e v j«
m.lc) are om:h.crs? (3eoll dovtator

S=nambef S sr&;zﬁ*-‘.af;g}
2. 89only - : e g
b. 15 and 89 pnly - o .j
G 150n1y Gy : . ’ . y - ézeuj }g

5 i I:qu‘ i
d, L 15 andi8S s dla g ; R\ MED Qf‘? MAX)

Q@ ISmd Ucnly P S ./NN ! )

’ ;} 33 "{'i ..V‘_, (o3 | ‘h”f\, &

oufl. ?U” ,‘ . a
1 : '-

‘ ;5 12 "t”/b’
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Senr (342 =1
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\Ar Midtown University, the average weight of freshmen boys is #g® 70 g =10

b
170 lbs. with a standard deviation of 9 lbs. The average weight of 9 -
»/ freshmen girls is 115 Ibs. with a standard deviaton of 6 lbs. A new 073 = &
) discriburion is to be formed of the values obmained when the weights
of the girls and the boys are added together. Whar are the mean .
/ and sEandard deviagon of this new dismibution? Assume thart the Y= &+
weights of feshman boys and freshman girls are mdcocnd:u:. o (o varinnel add
i e “
: & e i e T L
X e pts e
= 3
c. 55,10.8 : M= IFoHIS q +6
285, 10.3 —
e. The mean is 285 but, under the condidons stated in the proble.m, m ) | 35*'54’ "
you cannot determine the standard deviadon. e — /%
| Ty = 1od
#33.
. Fifty boys and S0 girls with ADED (Aszention Deficic Hyperacdivity L G o
" Disorder) were sclected for an exp ew drug for the 2’ I /‘/ -
weatmenr of ADHD. of the boys and half of the ¢ ere 2 :“if ““{"I‘” e
selected at random to reczive the new drug, and the other half of each s =5
group recaived a placzsbo. A reduction in Symptorms. £ ADI—ID was e
measured for each subject. The basic design of this experiment is ;,4 6,e, A o 7 7y’ p3_
a.. completely randomized e \ boy, _} ”
b. complerely randomized with one factor, gender Y et 1=y bee
c. randomized block, blocked by drag and geader. W hm we. Lr;y a54 b
«%@ randomized block, blocked by g gender ' ; L locted by gendt
= reodomized block, blocked by drog : a3 “"“J ohea 9 9 . ' gl 04 (v 4
T Twere conple tely ranelonRes’ (TCax
J‘n :,r ._{‘

have. vnearn bay Igiv| i

Which of the following is #he'best estimate of the standard deviation
for the approxdmawly normal disedbudon pzc'ur.cd’

a. 10 5 _
b. 30 "

s

e 1h

#34, _
S : : ; ' M\eﬂf §re JF



#35. , .

Fouommmumaldic.l'hrechccsa::madccdwiththclc:tcz“X," f(])):: )

o facas with the leter “Y,” and one facewith the leceer *Z.* What e indepandleat

)/ is the probabilicy that at least one of the firse two rolls is a “Y?7 r;{{g sar ki_., fen )
I P el S ¢ Desraoi i fedii oy

7
6 o o8 |
¢ : ) ‘? 2

b Z3 : A

Pt 2L

- 5/9 I ——T :
’:?@ U3 : are Y lT | — 5,-,?:,,?5;4(@; .‘;;3)
e 29 : : e s ; b[ﬂoMP&W‘{aﬁ “lg‘;g g) ) —-;:
| S5T :)“E:,?\

#36.

“The comelation between o0 yagiables X and Yis 526, Apewserof =775 >
'scores, X* and Y, is construcred by lecring X* =—Xad Y"=Y+12. s -
The correlation berween X* and Y™ is _ . v i N -

=

e
s

a —26 : e X —X
?@ =8 o . 5-}';,-"'1‘.-.-;-,"54‘ ot O3 feod "Q('“‘"“ £ g -—',-‘{‘#e"w"qu
G Bt chame hat Hegecting X rele H€/
o - apan SHPC 1
d. .52 Aeahon which mear IS
o ".52 ;’;u-;,r P Pr'{.f.@' 5{{ F. ‘4}‘,*1{{' ot :tﬂ:':g-'.x )
(b i (rw‘ ;‘7&5}

#37. ' o g &0
|

ich of the following best describes 2 “double-blind™ study?, :
The subjecss ace placed into reatment and conwol groups in  s.) ucts bl asid (s)ye - ) '
sueh 2 manmer tha they do not know to which group theyace ;
assigned. . LR R e ] e '

b. The subjecss are randomly assigned to treatment and conwol blcncking
groups that conrrols for possible unknown biases that might be

_ preseat in the study. . : : 3 e
Neither the subjects in the study nor the administrator of the | brects 4 e luattos (adminiseshad
study are aware of which subjects ace in the meatment group and 5’: yets e Yy

: biine

which are in the control group. b h 1 g g )

d. :hcmab;xf:cf; placing subjects in groups so as to protect against jf"“ﬂ"j ic ot é/wf'hj (ho élfns(ﬁfi)
P =20 P iy ¥ : Olazs b £ ol & ":' S (g —}-g-?“‘:' 'i‘;'"ﬁq 1‘«'.?!"4-’-‘5 ¥

e. Volunteers are assigned to groups in such a way that they do not f‘p{.,.rd}wjx se a f le f:'f‘f“

¥now into which groups the other volunteess have been placzd. = , ) ; oy
ingle. #Lin

i

#38.

LY : 5 :
ich of the fve histo ictured below has _
Spr R gramspmmr DEow chcsma.[h:ststzn

R b. ; ‘c. : d. a.

i 9 % 9

Swall stendosd/ «,Qvf«, when  wore \;mln‘,’) Gre (f.‘{.w(}éaf._f(;r( e {ij fo Ate mean
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#39.

3 crcl{c technique of drawing 2 sample for a sarvey is to select a strad-
random sample. The purpose of this type of sample is to

a. Ensore that the s
9 uladon. . e i
I ot 0 e NG ot
c. Economize by not having to sample from R i e this wauldd
d. Conrrol for lucking vaz:iagblcs. e

ample is a simpl: randam sample of the pop- s wou d

conclusions,

3'\:;“ AR C;EZ,EF

be clurder Sy lirg.

P IY) o \
& flore By randemidety (A RAY way)-
e. Reduce the numbers you need to sample to arrive at valid £— i 5@7@

need e —Q/ 4

a~fic ks mnf{(ﬂtmce, level Aot
_/,fr\uﬂf;'e, WA 5 fxm/ / iy -/'e(jm{_ .

#40. -

' Youroll two d.i_cc. What is the probability thm: the sum is six given W
thart ooe dlcsb:ows a-{? ; . Gy g w4 f((; SMM/&,,@ is ‘f’):&wg s
2,203 : iZauaicle = e
b. 25;5 ‘ ‘;- 34 5 =2 or 1|
c. 1136 2t sl 12 1 = 0=

—>(d) 2/11 f’gfa?'f?ﬁ 5 P(4nd) j[v)«f’(él‘? T

e 12436 ‘ e ‘;ﬂ = *;' ‘§Z = 24 ‘(’/51’9"'“;’/T

EW "a".;i‘ i \‘%:-}"
#41. i P[éh’)" wjze A\ 18

You play a game that involves rolling a die. You either win oz lose ——

§1 depending on what number comes up on the die. If che number
is even, you lose §1, and if it is odd, you win $1. Howerves, the die is
weighted and has the following probability distribucion for the var-

ious facss:

ot —

W r.|§"'|" (Z'D'f“

B 1 pasdg 3l 4 A =22
W (=) o+l : 7—17 gpen bt e +1 -1
(=) 15 20 820 1 1
Given &t‘féﬁ win rather than lose, whatis he probability thar you
olled - 5 5 e gt e |
£ 50 A |
b. .10
45 e
- 2 .
#42.

'A psychiamist is scadying the effects of regulac exercise On STTESS
redncrion. She identifies 40 peoplewho exerdise regularly and 40 who
do not. Each of the 80 people is given a questionnaire designed to
determing stress levels. None of the 80 people who participazed in the
study knew thar they were part of a study. Which of the following
statements is true?

— e This is an observatonal study.
5, This is 2 randomized comparative expedment.
c. This is a double-blind smdy.
d. This is a marched-pairs design.

Lo potrectmert nstan m/?é‘/w wad
P e —a g n.?é'&i-' " i"J !\‘4 (Jf) wetie -'l(“ﬁ\ "*7."7’5' 3 o)
_ ; ] B s e f{‘f&f"jf‘"\ : } y
e. This is an experiment in which exercise levelis a blockingvadiable. £~ e —fout

0 w{r/f, < t’J"lé {7
ovl . ¥

An Oyia
an Exfari went




#43.

Shanelle got the same score, 51, on two consecutive calenlus quizzes. PSS
The mean for the class on the first quiz was 43 with a standard devi- "‘C*""f .ol
2don of 6. The mean on the second quiz Wwas 38 with a standard devi- 5

7

ation of 9. I_ldaﬁvc to the class, on which quiz did Sha.nnll:: do better? Z (g P abost maan

a. She did better on quiz #1. b sl =25 _ |y~
She did bezter on quiz £2. - | - FIE - S

= She did equally well on each quiz because she got the same score. e

d. She did betrer on quiz 42 because she was further above the mean { bedle, on 2™ guit— |
than she was on quiz #1. IS

e. You cannot answer this question without knowing how many

stdears actually took each quiz.

#44,

)Tfac distriburion of 2 set of scores Has mean of 35 and standacd devi-. f= (?q“ 5)3

2tion of 12. Five is subtmacted from each tecm in the distibudon, 2nd ‘

the result is muldplied by three. The new mean aad standard devia- g = -$)3

Bopare ; : B AR ; o =S)2 = @

L 1=105,0=36 =f¢

vy
s

#45.

Baxzer is 2 60% fres-throw shooterwho gers fouled during 2 gameand
cers to shoor what is called 2 “one-and-one” (thatis, he gers to ke 2

second shot—a bonus—if and only if he makes his first shot; each fre=
throw, if made, is worth one poin). Baxter can make 0 points (because
he misses his first shot), 1 point (he makes the first shot, but misses the
bonus), or 2 points (he makes his first shot and the bonus).

most lizzly ro make in 2 ons-and-one sitaation? :
. 0 ‘ ; N IN YY
36 : . ; l ndly 'g’J éﬁ{;}iji{“
e. none of these is correct : f=
4

Assuming that each shot is indepeadent, how many points is Baxter |

'7}(«( = ¥ 26
\x_,m, Mf‘/‘;e"j;_:”.} %TS frﬁ_j‘#”” U iy

b U @ F S ‘#Ef}.f‘} ‘7"4"*“'_"3 f"ﬁ#‘j 4

] b
Lo fiiEdde 0 oA €

o {7" i }v J

5 . F Tl

;;# oY, f“, !\"1




#46.
Baxreris 2 60% frea-throw shooterwho gess fouled during a game and
gess to shoot what is lled 2 “one-and-one” (that is, he ges to ke 2

» second shot—a bonus—if and only if he makes his first shog each fre= , =3
Q throw, if made, is worth one point). Baxter can make 0 poinss (because s
he misses his first shot), 1 point (he makes the first shot, but misses the i 2y 36
borus), or 2 points (he makes his frst shot and the bqnus)._ - y ‘n .
Eissuming that each shotis indc‘pénd;n_t,._ho# p:aﬁyrpahzswﬂlxm () (l L )(t D (b4 )

/make on average in a one-and-one situation? "y |
R e 7}\;) oré ‘;,‘- Cr;f[- ol vVl 7k
N .QQJ

W Dl 0+
)

a 2 : ; _
—> () .96 : \ EV=m= (9){:2
¢ A 5 ‘ )

e. 36 i : ‘
#47.
}
L a
]

Forthe graph g;'vir:n'ibo"{r:,' which of the following statements are gue? - _ ' w.
. . i h 2 N bl b reuio doednT (s of
1 The point marked with the “X™ is bez=r descibed asanoutlies ;5 Jefjaetn ! betaaie A8 [ )
i £ HEE ; e 'S (f’/l/a“j@ (‘A:_H‘zwf—t ﬁbm a7 NO1E

than 2s an influendal point. i ST | :
VI Removing the point X" would cause the q:o:&!_.mcn‘to merease. S < bormasa NS pointi 1A fdnt s
Y IIL Removing the point *X” ‘would have a2 signiicant effecton the . 923 ! ( ey
e Crem ‘

; i ; & A e
the regression line. . PENTE . bt
SlOPC of i - & he, becasse f TN S A a\ﬂ':‘ﬂf v EATIR !

%@Imdﬂon{}r
. Lonly

c. Donly
d. I znd IT only
e. [ILand I

#48.

. An electronics firm wants to-survey its employees to determine their
ardrades toward employes compensadon. They obtzin the sample
for the survey by randomly selecng one of che first 20 names
on an alphabercal list of employess and thea select each 20ch
name on the lisc rom then on. This is an example of which of the

a. simple random sample : _

b. cluster sample !
c. stradfied random sample

d. convenience sample

9@ systematic sample




L
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#49.

“Results of an experiment, or survey are said o be bigsed it

a. Subjects are not assigned randomly to, treatment and control
groups. g e s g '

—7> Some outcomes are mb:mancaﬁyfzvomdc‘?ctcche:s.

c.  There was no conrrol group. :
d A double-blind proczdure was not used. ;
e. The sample size was too small to control for sampling vadability.

-

#50.
| Givea the probability histogram

pictured for 2 discrece random
varable X, what is jix? °

S e e

2.3

31

2.8

#51.

Free response questions on the AP Statistics Exam are graded on 4,
3, 2, 1, or .0 basis. Question #2 on the exam was of moderate diffi~
culty. The average score on gueston #2 was 2.05 with 2 standard
deviation of 1. To the nearest tenth, what score was achieved by 2
student who was at the 90th percentile of all smdenrs on the test?
Y ou may assume that the scores on-the question were approximarely
normally diseibated. =~ 7 ' h A

. s
b. 2.5
)29
d 27

=G4

L L2z
] e
Z e =
3| .1
N
S| v
I-—\/a/ f‘)tﬂ'ff Ll LfZ
/ d art '4;'; f’{ o

a% ¢ 2oy
E;-}’ Z.0 =

LA Nor ;ﬁ(ﬁaQ@/ 2,05} )
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#52.
40% of the staffin a local school dxsl:mc"hzvc master’s degress. One d& L - 246 )
f s /

of the schools in the discdics has only 4 teachers out of 15. Yoa are
asked to design a simulation to derermine the probability of gettng

this few teachers with master’s degress in a group this size. Which of nodeling Jpo. b o+ so oD
the following 2ssignments of the digics 0 !:hrough Jwould beappro-  °% ,\7& e AT |
priate for modeling this simadion? . .. oaomfo ool e of fpe digits = masler

4. Asagn “0 1,2" as ha.v_mglm.aste.r’s d‘c”g.rc. and "4 5 6 7, 8,9" : g_« 7?—-— waghes Ho

not having a degres, ~

b. Assign “1,2.3,4,5” a5 having 2 master’s degres and 70.6,7,8.9" & —f; wefer # 2%

- as not having 2 degres. -

c. Assign “0,17 2s having a master’s ci::,.c: and 2.3:4,5,6,7,8,57 & = sl T
as not h:m.ng a degres 9 s = YD
Assign “0,1,2,3" as having 2 mast::‘s dcg:c- a.nd "4,5,67 L e L masdes = Yo d
aspmothavingadegree o P

e. Assign "7,8,9” as having a m.asccr’s dcg'_." - an'd “G 1,.,3 4,5,5 . — weslped PN

* s not having a degres.

#53.
A stndy showed that persons who ate two carrots a day have sigmif-
icantly becter eyesight than those who eat less than one carror 2

wes=k. WhJ.c.h of the fuﬂowmg smrements are com:ct?
o foruf e [

v & This study provides cwdcncc :hat earing carrom contxibutes to & not-an 97134‘:”’* 1 i blished
beczer eyesighe relotonthip be ¢
v IL The geaeral health consciousness of pcaplr. who eat carrots cc:u.ld L p N et earholied
be a confounding vadable. e Ao e , e
/1L Thisis ag obscrvauomd Smdy‘ and nocm ﬂxpﬂmm e e, o e aedT T gvvens
2 Ioniy‘ : R R '
b. Monly
c. [and I only
—7 @ II and I only
e. LI and OI
#54.
|Given the cumuladve frequency cable shown below, what are the
mean and median of the dismibudon? ; o ot Lot L] -
B ,‘ l
Value Cumuladye Frequency J |
2 13 ran
3 : 25 : \ |
5“ .4‘5 . N L. A4 ;
7 55 AT
10 : 1.00 : R ARN
/ | 1] | :
~ 7 | S 1 F { ’
a, Mein=75.6, median=7 ; J ks
b. Mean = 5.6, median = § ‘ ; /)q 5 digtr: bv'““""‘ 0!0‘25”‘!’?(} o £B

& Mein=5.4 median=7 . wrbl ale, 5 3o s Skowesd [oFF
d. Mean= 5.4, median=5 o ¢
f——?@Mm = 4.8, median=4§

bo ... mE&an 15 loweThan median =
dm.,f tﬁ(’_,l an qu+ be 25

”7(\"4"9::1 an (‘q,“§ b?- Q‘ };ém«di'{p)




